EXPLODED VIEW

TOP / PLAN VIEW

141.5 (5 9/16")

ITEMNO.| PARTNUMBER |  DESCRIPTION MATERIAL | FINISH Qr.
1 |ss204 OIS e | GD316SS | BRUSHED#4 | 1
2 |HB-M16x50 Hex Bolt M16x50 | A2-70(18-8) | EXWORKS 1
3 |Hex NutM16 Hex Nut M16 A2-70 (18-8) | EXWORKS 1
4 |SW-M16 LOCK WASHERM16 | A2-70 (18-8) | EXWORKS 1
5 |HN-M16 WASHER FLAT M16 | A2-70(18-8) | EXWORKS 2

:'\
x
L
}_ N
5
o XN ISOMETRIC VIEW
e
>+ sl ©
Y=~ Eo
£ ©
o Ay 1)
Q (42} —
0 0
o o
N o
-~ — |
?n zo ; ’\ GENERAL TOLERANCES (mm) UNLESS SPECIFIED
© o | \
Lf\) } \ LINEAR DIMENSION TOLERANCES (ISO 2768 - FINE)
N9
o NOM. DIMENSION 05TO03 3TO6 6 TO 30 30TO 120 120 TO 400 400 TO 1000 1000 TO 2000 2000 TO 4000
o
N‘ w ‘ TOLERANCE +0.05 +0.05 0.1 +0.15 0.2 +0.3 +0.5
@ h ANGULAR DIMENSION TOLERANCES (ISO 2768 - FINE) EXT. RADIUS / CHAMFER HEIGHTS (ISO 2768 - FINE)
" NOM. DIMENSION 0TO 10 10 TO 50 50 TO 120 120 TO 400 NOM. DIMENSION 05TO3 3TO6 OVER 6
@ 37 " 0 ( 1 1 /2 ) TOLERANCE #1° £0°30" £0°20' £0°10° TOLERANGE 02 £05 410
ELEVATION VIEW INTERNAL CAVITY
2Nl I
\\w ] T

** NOTE: SUGGESTED PAIRING - STELLA ARTICULARING BOLTS **

THIRD ANGLE PROJECTION

ASSEMBLY DRAWING - SKU #SS204FTNHH6S013
FOUR ARM FACE MOUNTED S20 SPIDER - SS204FT:
100mm [3 15/16"] LONG SPIDER FITTING w/ BRUSHED #4 FINISH
(INCLUDES M16 HEX BOLT & NUT, FLAT & LOCK WASHERS)

SCALE

1:1

DWG No

SS204FTNHH6S013

—/
.

TEL (604) 231 5892

[

j

[}

UNIT 105-8218 NORTH FRASER WAY, BURNABY, BC, V3N 0E9
WWW.STELLAGLASSHARDWARE.COM

This drawing is the property of Stella Custom Glass Hardware Inc and may not be copied or reproduced in any way whatsoever without written permission of that company

Paper size 11"x17"




	Model
	Drawing View19
	Drawing View20
	Drawing View22
	Drawing View26
	Drawing View27
	Drawing View29
	Drawing View32


